H & 0l & AHS B Ml A

20243 =& 1 3 Kot 2el SEIH A

X5k &Y 2

&9l XIgks Zel (Kot 22l SE3) (St &)

SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
SE AL 107,087 107,087 0
Kot && 2l 107,087 107,087 0
Klote 22l (XIots 22l SE3H) 107,087 107,087 0
Kok =Xl2tel 106,059 106,059 0
201 ZeH22 ] 89,020 92,020 23,000
01 ArR2eltl 16,920 19,920 A3,000

OXlote 2X&el A28 S

2 & 5,980,000 5,980 8,980 23,000
401 AlIEHIZL 2 0HY| 9,000 6,000 3,000
01 AIZHI 9,000 6,000 3,000

OXIgH: $XIB Ha=n

Z & 3,000,000& %3042 9,000 6,000 3,000




